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English Version

Group A
Answer any fwo questions : 18x2=30
Discuss critically the features of new French

Constitution prepared by the Constituent Assembly in
1791.
What is Industrial Revolution 7 Evaluate  various

Cinterpretations of the economic historians on Industrial

revolution.

How far was the foreign policy of Bismarck successful
in united Germany ? Discuss the features and demerits
of this policy.

Discuss the background of the November Revolution
of 1917. What is the sAignificemce of the revolutionary
doctrine of Lenin in the success of the revolution ?

Group B

Answer any three questions : 12%3=36
Evaluate the constribution of the philosophers in the
French Revolution of [789, ' ;

Do you think that the rule of directory facilitated the rise
of Napoleon to the power 7

Was the policy of Bismarck towards the Catholic and the
socialists repressive ?

Evaluate the foreign policy of Kaisar William 1I. How far
was this policy responsible for the outbreak of the First
World War ?

ElG).
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(9) What is continental system ? Discuss England’s reaction

on it
(10) What was the impact of the Nazi hegemony on the state
structure and the economy of Germany.

Group C
Td=28

(1l) How was the tax structure in pre-revolutionary

Answer any four questions :

France ?

(12) Do you think that the reign of terror was adequately
justitied ?

(13) Discuss the importance of the peninsular war.

(14) What was the policy of Bismarck regarding the labour
welfare ?

(15) How was the agricultural revolution related to the
Industrial Revolution in England ?

(16) What was the importance of the Frankfurt Parliament in
the question of the German unification ?

(17) How did the conflict between Austria and Serbia make
the First World War inevitable ?

(18) Write a short note on the Locarno Pact.



